### Fort Bend County Tabulation Bid 21-084

### Construction of Left Turn Lane on Mason Road at FM 1093 for Fort Bend County Mobility Bond Project No. 17321X

Awarded 06/22/21: Wade Con, LLC \$127,083.00 Funding: Mobility Bonds

Company	Bid Price	Completion Time in Calendar Days
Wade Con, LLC Kingwood, TX	\$127,083.00	45
Conrad Construction Co., Ltd Houston, TX	\$127,677.50	45
Aranda Industries LLC Houstson, TX	\$132,943.00	45
Teamwork Construction Services, Inc.	\$137,562.50	45

Bid Date: 6/1/2021

			'	(1 Toject No. 3007	05.10, Dia 110. 21	0017				
					WadeC	on, LLC	Conrad Construction Co., Ltd		Aranda Industries LLC	
Item	Spec.	ltem	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
A. SITE PRE	EPARATION AN	ND EXCAVATION ITEMS								
1	104	Remove Old Concrete (Pavement With	SY	143	\$20.00	\$2,860.00	\$22.50	\$3,217.50	\$10.00	\$1,430.00
	104	Curb, incl full depth sawcut)	31			\$2,800.00	,	73,217.30		
2	110	Roadway Excavation	CY	341	\$20.00	\$6,820.00	\$15.00	\$5,115.00	\$30.00	\$10,230.00
3	500	Remove & Relocate Traffic Signs, Mail	EA	4	\$100.00	\$400.00	\$1.00	\$4.00	\$500.00	\$2,000.00
		Boxes, and Roadway Signs				·	· ·	·	·	
4	501	Tree protection and trimming	LS	1	\$5,000.00	\$5,000.00	\$850.00	\$850.00	\$3,500.00	\$3,500.00
5	562	Preparing Right-Of-Way	LS	1	\$15,000.00	\$15,000.00	\$30,500.00	\$30,500.00	\$4,500.00	\$4,500.00
SUBTOTAL	SITE PREPARA	TION AND EXCAVATION ITEMS				\$30,080.00		\$39,686.50		\$21,660.00
D DAV/5845	ALT ITERAC									
<b>B. PAVEME</b>	360	6" Concrete Pavement (Median Nose)	SY	9	\$100.00	\$900.00	\$75.00	\$675.00	\$252.00	\$2,268.00
7	360	8" Concrete Pavement	SY	684	\$90.00	\$61,560.00	\$88.00	\$60,192.00	\$85.00	\$58,140.00
		Portland Cement Stabilized Subgrade (8"						,		
8	433	Depth)	SY	684	\$15.00	\$10,260.00	\$14.00	\$9,576.00	\$20.00	\$13,680.00
9	530	6" Reinforced Concrete Curb	LF	702	\$5.00	\$3,510.00	\$5.00	\$3,510.00	\$25.00	\$17,550.00
10	536	Coloring Concrete Medians (Black)	SY	14	\$10.00	\$140.00	\$20.00	\$280.00	\$10.00	\$140.00
SUBTOTAL	PAVEMENT IT	EMS	<u>l</u>			\$76,370.00		\$74,233.00		\$91,778.00
11	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	702	\$3.00	\$2,106.00	\$2.50	\$1,755.00	\$3.00	\$2,106.00
12	660	Reflectorized Pavement Markings Type I (Thermoplastic) Arrow - Furnish & Applied	EA	4	\$200.00	\$800.00	\$225.00	\$900.00	\$500.00	\$2,000.00
13	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word - Furnish & Applied	EA	4	\$200.00	\$800.00	\$225.00	\$900.00	\$500.00	
14	660	Painted Curb (Yellow)	LF	702	44.00					\$2,000.00
15				702	\$4.00	\$2,808.00	\$1.50	\$1,053.00	\$3.00	\$2,000.00
	663	Raised Reflectorized Pavement Markers (Type II-C-R)	EA	140	\$4.00	\$1,400.00	\$1.50 \$6.00	\$1,053.00 \$840.00	\$3.00 \$5.50	
	SIGNING AND	(Type II-C-R) STRIPING ITEMS	EA				·			\$2,106.00
		(Type II-C-R) STRIPING ITEMS  MS	EA LS		\$10.00	\$1,400.00 <b>\$7,914.00</b>	\$6.00	\$840.00	\$5.50	\$2,106.00 \$770.00 \$8,982.00
<b>D. TRAFFIC</b>	SIGNING AND	(Type II-C-R)  STRIPING ITEMS  MS  Traffic Control Plan		140		\$1,400.00	·	\$840.00 <i>\$5,448.00</i>		\$2,106.00 \$770.00
D. TRAFFIC 16 SUBTOTAL	SIGNING AND CONTROL ITEI 671 TRAFFIC CONT	(Type II-C-R)  STRIPING ITEMS  MS  Traffic Control Plan		140	\$10.00	\$1,400.00 <b>\$7,914.00</b> \$10,000.00	\$6.00	\$840.00 \$5,448.00 \$5,000.00	\$5.50	\$2,106.00 \$770.00 \$8,982.00 \$7,000.00
D. TRAFFIC 16 SUBTOTAL	SIGNING AND CONTROL ITEI 671 TRAFFIC CONT	(Type II-C-R)  STRIPING ITEMS  MS  Traffic Control Plan  TROL ITEMS		140	\$10.00	\$1,400.00 <b>\$7,914.00</b> \$10,000.00	\$6.00	\$840.00 \$5,448.00 \$5,000.00	\$5.50	\$2,106.00 \$770.00 \$8,982.00 \$7,000.00
D. TRAFFIC 16 SUBTOTAL	SIGNING AND CONTROL ITEI 671 TRAFFIC CONT	(Type II-C-R)  STRIPING ITEMS  MS  Traffic Control Plan  FROL ITEMS  TION PREVENTION ITEMS  Sodding For Erosion Control and	LS	140	\$10.00	\$1,400.00 \$7,914.00 \$10,000.00 \$10,000.00	\$6.00	\$840.00 \$5,448.00 \$5,000.00 \$5,000.00	\$5.50 \$7,000.00	\$2,106.00 \$770.00 \$8,982.00 \$7,000.00 \$7,000.00

Bid Date: 6/1/2021

				WadeCon, LLC		Conrad Construction Co., Ltd		Aranda Industries LLC		
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
20	741	Inlet Protection Barrier (Stage 2, With Fiber Rolls) - Furnish, Install, And Remove	EA	2.0	\$10.00	\$20.00	\$150.00	\$300.00	\$10.00	\$20.00
SUBTOTAL S	STORM WATER	R POLLUTION PREVENTION ITEMS				\$2,719.00		\$3,310.00		\$3,523.00
					WadeCon, LLC Conrad Construction Co.,		ruction Co., Ltd	., Ltd Aranda Industries LLC		
A. SITE PRE	PARATION AN	ID EXCAVATION ITEMS			\$30,080.00		\$39,686.50		\$21,660.00	
B. PAVEME	NT ITEMS				\$76,3	\$76,370.00 \$74,233.00		233.00	\$91,778.00	
B. SIGNING	AND STRIPING	TEMS	•		\$7,914.00		\$5,448.00		\$8,982.00	
D. TRAFFIC CONTROL ITEMS				\$10,0	00.00	\$5,000.00		\$7,000.00		
E. STORM WATER POLLUTION PREVENTION ITEMS			\$2,719.00		\$3,310.00		\$3,523.00			
TOTAL BID PRICE (SUM OF ITEMS A THROUGH E)				\$127,083.00		\$127,677.50		\$132,943.00		

					Teamwork Constru	uction Services, Inc.			
Item	Spec.	ltem	Unit	Unit	Unit	Total in			
No.	No.	Description	Measure	Quantity	Price	Figures			
A. SITE PRE	A. SITE PREPARATION AND EXCAVATION ITEMS								
1	104	Remove Old Concrete (Pavement With	SY	143	\$38.00	\$5,434.00			
		Curb, incl full depth sawcut)			,	, -,			
2	110	Roadway Excavation	CY	341	\$32.00	\$10,912.00			
3	500	Remove & Relocate Traffic Signs, Mail Boxes, and Roadway Signs	EA	4	\$950.00	\$3,800.00			
4	501	Tree protection and trimming	LS	1	\$5,100.00	\$5,100.00			
5	562	Preparing Right-Of-Way	LS	1	\$14,250.00	\$14,250.00			
SUBTOTAL S	SUBTOTAL SITE PREPARATION AND EXCAVATION ITEMS \$39,496.00								

#### **B. PAVEMENT ITEMS**

6	360	6" Concrete Pavement (Median Nose)	SY	9	\$75.00	\$675.00
7	360	8" Concrete Pavement	SY	684	\$84.00	\$57,456.00
8	433	Portland Cement Stabilized Subgrade (8" Depth)	SY	684	\$32.00	\$21,888.00
9	530	6" Reinforced Concrete Curb	LF	702	\$10.00	\$7,020.00
10	536	Coloring Concrete Medians (Black)	SY	14	\$36.00	\$504.00

SUBTOTAL PAVEMENT ITEMS \$87,543.00

#### **B. SIGNING AND STRIPING ITEMS**

11	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	702	\$1.50	\$1,053.00
12	660	Reflectorized Pavement Markings Type I (Thermoplastic) Arrow - Furnish & Applied	EA	4	\$155.00	\$620.00
13	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word - Furnish & Applied	EA	4	\$175.00	\$700.00
14	660	Painted Curb (Yellow)	LF	702	\$1.50	\$1,053.00
15	663	Raised Reflectorized Pavement Markers (Type II-C-R)	EA	140	\$4.00	\$560.00

SUBTOTAL SIGNING AND STRIPING ITEMS

\$3,986.00

Bid Date: 6/1/2021

#### D. TRAFFIC CONTROL ITEMS

16	671	Traffic Control Plan	LS	1	\$2,950.00	\$2,950.00
<b>SUBTOTAL T</b>	RAFFIC CONTE	ROL ITEMS				\$2,950.00

#### E. STORM WATER POLLUTION PREVENTION ITEMS

17	162	Sodding For Erosion Control and Stabilaztion(Various Widths)	SY	99	\$5.00	\$495.00
18	164	Hydro Mulch Seeding	SY	1,009	\$2.50	\$2,522.50
19	700	Notice of Intent	EA	2	\$225.00	\$450.00

Bid Date: 6/1/2021

					Teamwork Constru	uction Services, Inc.	
Item	Spec.	Item	Unit	Unit	Unit	Total in	
No.	No.	Description	Measure	Quantity	Price	Figures	
20	741	Inlet Protection Barrier (Stage 2, With Fiber Rolls) - Furnish, Install, And Remove	EA	2.0	\$60.00	\$120.00	
SUBTOTAL S	SUBTOTAL STORM WATER POLLUTION PREVENTION ITEMS \$3,587						

	Teamwork Construction Services, Inc.
A. SITE PREPARATION AND EXCAVATION ITEMS	\$39,496.00
B. PAVEMENT ITEMS	\$87,543.00
B. SIGNING AND STRIPING ITEMS	\$3,986.00
D. TRAFFIC CONTROL ITEMS	\$2,950.00
E. STORM WATER POLLUTION PREVENTION ITEMS	\$3,587.50
TOTAL BID PRICE (SUM OF ITEMS A THROUGH E)	\$137,562.50